	TFS Kolkata - KFC	D	KG Sales	Remamrk			
S.No	Item Name	Unit	Quantity	Qot Rate Amount			1
1	Basket Breading Pop Corn	Nos	2	825	1650		12%
2	Diffuser For Sauce Gun (1x10)	Nos	20	132	2640		18%
3	Sauce Gun 1 3 Oz Franke	Nos	2	3850	7700		18%
4	GN Pan 1 6 150MM	Nos	6	441	2646		12%
5	Tupperware-Rice keeper 10Kg	Nos	4	924	3696		18%
6	GN Pan 1 6 lid	Nos	6	83.3	499.8		12%
7	Frieght Charges	Nos	1	2000	2000		18%
		Besic Rat	te		20,831.80		
		GST @ 1	2%		575.50		
		GST @ 1	8%		2,886.48		
		Total An	nount		24,293.78		



## PROFORMA INVOICE

KES ORDER NO.	DO_1666
ORDER DATE	12-09-2024

Amount (Rc)

Offing Address MAVIEL POOD SERVICES PVT. LTD. LIEWAYS 68585, 82, GATE NO 2 C., NSCIII

TERNATIONAL JKAZI NAZAKULISLAM SAKANI JOUM DUM J OLKATA - 700052, WEST BENGAL INDIA

Shipping Address TRAVEL FOOD SERVICES PVT. LTD. SUBWAYE 68585, 83, GATE NO 3 C., NSCIII

TERNATIONAL KAZI NAZARULSLAM SARANI DUM DUM .

store No.	68383
Kind Attn:	Mr. KLIPESH KLIMAK
Phone:	+91 9836622345
twait to:	Subway kokata@travefoodservices.com

GST		29	AABCTS	1991121	
PAN:	AAICTR193L				
		24	beted	-	
Modification details (if a	arred)	2.4	beted	13-09-2024	

3. No.	Code	Description	City	Unit Price Amount			
1	-	ITEM AS PUR ANNURURE - 1		LS		6,790.00	6,790.00
Payment	Terms	200% Advance with PO	Total Amount (Roun	oled offi			6,790.00
Validity		OT days (Subject to levi of GST after 30.06.17)	Packaging & Ponwar		pes.		INCLUDED
Price Bar		Ex-Warehouse	Nett Total				6,790.00

Payment Terms	200% Advance with PO				
Validity	07-days (Subject to levi-of GST after 30.06.17)				
Price Badis	ts-Warehouse				
Delivery Period	App. 5 to 6 Months or subject to availability				

_	App. 5 to 6 Months or subject to availability	Total
		meigh
	BANK DETAILS	State
1	Stellar Gastronom Private Limited	Involuta
	KOTAK MAHINDRA BANK	
	28 Community Center, Naraina Industrial Area,	1
	Phase-1, New Delhi - 110028	Armou

total Amount (Rounded off)	6,790.00
Fackaging & Forwarding Charges	INCLUDED
Nett Total	6,790.00
total to-Warehouse Price	6,790.00
rreight	evCuuded.
State Bittry Tax / Octroi	TOPAY
Inquiance	BY CLIENT
GRAND TOTAL	6,790.00
Amount Received	
Net Receivable / (Payable)	-
	-
	_

ease quote our ref in all future correspondence for to our "Terres and conditions of tale"

6713575677

(if not annexed, please ask for it)

This is a computer generated document, hence does not require any sign

Prince - HS-11-52157200, HS-5800995720, Withe Louis Area, Young Critical Water Louis Area, Place-6, New Deliv - 110028
Phone - HS-11-52157200, HS-5800995720, Wirte-to-us at - kecuker@htellargastronom.com
Warehouse Address - A-17, Sec-A-3, Tronica City, Indi. Area, Tronica City, Ghaziabad, U.P-201102

_			===			_	=				
-		-	-		- Anna Carlo						-
								-		-	
				-	Contract Section (Contract Section Sec		- marin			-	-
-				-			200	-		-	
	-		-	-	AND DESCRIPTION OF SHARPS AND ADDRESS.			-	2000	-	
				-				_			
										1700	-
	TELLAR										
	TELEAR				Section concerns frequent						
					Transaction and Committee of Co						
								_			
			-								
				-							
-											
		_									
				-							
			-								
		Though at									
	: ====										
	L galaxy										
					and the state of t						
					The state of the s						
-											
_											

Date: 16-09-2024	PO No: TFSKPL/PO/24-25/000157
Vendor Name: Stellar Gastronom Private Limited	
Product Description: SOE	Unit / Project Name: Subway
Justification:	
Specifique Material procure by (As per Same material Procure by Subway	Only known supplier. (List of the suppliers which were contacted below and the specific reasons why each was not a viable source)
	Only known qualified supplier or item. (List the qualifications that each source or items meet. If another supplier offers a similar item, provide the item identification, supplier information and comparable pricing).
	Supplier proprietary item. (The selected supplier is the only manufacturer of this item. List the reasons why no substitute item can be used and if no similar item is available).
	Franchise / Management / User Dept Directed. (Provide a copy of letter, or memo or e-mail specifically directing this source) vendor already work with us on same location.
0	Item / Rate Contracted. (Provide copy of the contract / agreement)

SINGLE VENDOR DECLARATION						
Date: 16-09-2024	PO No: TFSKPL/PO/24-25/000157					
Vendor Name: Stellar Gastronom Private Limited						
Product Description: SOE	Unit / Project Name: Subway					
Justification:	Only by our complian (List of the complians which were contacted					
Specifique Material procure by (As per Same material Procure by Subway	Only known supplier. ( <u>List of the suppliers</u> which were contacted below and the specific reasons <u>why each was not a viable source</u> ).					
	Only known qualified supplier or item. (List the qualifications that each source or items meet. If another supplier offers a similar item, provide the item identification, supplier information and comparable pricing).					
	<b>Supplier proprietary item.</b> (The selected supplier is the only manufacturer of this item. List the reasons why no substitute item can be used and if no similar item is available).					
	Franchise / Management / User Dept Directed. (Provide a copy of letter, or memo or e-mail specifically directing this source)vendor already work with us on same location.					
	Item / Rate Contracted. (Provide copy of the contract / agreement)					
Prepared By	Approved By					